Bfnovu(a\ Theovem .
) (o)’ =1 sy o) k() 109
= X + |2x3‘j t (ax’-ﬁf + Ll><-27'j3 +2lqu

=x' I2x1‘j + S"{ijzw‘ l08)<«j2+ Zlgq

A\ nh
(r) ()l

Factof AL =
If at0 | n.=r\(r\ D) (n-2)- 32
n iSawlo\olt
numbes
5l=5-4.3-2-1 =120
4 . ]
(3) v
('—I B L” i 4321 = L_\
I (q-l)l 1!  an i

|«
5
< o

/“"
E :
o)
!
v:\
el
\)



& 3 |
s*&y\pr 5 0584 x"y
g ¥
Dn cal walror (?) - V\Cr
X (1) 7MATH PRe nCr 3 enkr
25
M Jorm o‘r (&’\' b)
) n a=(-1) Bj-l
)
8,m=8
éﬂ' Jevm of (x ¥ 3‘5)
-5 5
e U} X (?ﬂ - 56 23y = [3u0sry
gfd Levwn 01C (2x+(?9

1 __ 2 T %
(:)(2}( gj)‘5= 55-512 X -25y" = P4p00X Y



ASSiﬁM it

9
) 3 w1 <3X'2)

1S
2) lOn‘ Lrw in (X""j)

.
3) 7 Jorm in (5X6y)

D) 2™ em i (60 5y)
) gum in (-39)



